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Q.1 | a. | Solve the system of equations 4x ﬂb@y+82 44, 10x+26y+26z =128,|10| L3 | CO1
8x +26y+61z =214 using Choleskywmethod Pt
b. | Find the inverse of the matrix us ing partition method, 10 | L3 | CO1
111 Gl
4 3 1. i
35 3
1 Q.2 |a. | Solve the system of equation : x1 +x2 +X,=1, 4x,+3x,-x,=6,|10| L3 | CO1
3x, + s‘&% 4%3& =4 by trlanguhsatmn method. M
b. A}Sply'Gauss Seidel iterative méthg to solve the sys fequations, L3 | CO1
10x, - 2x, — X, — X, =3, &
—2x, +10x, — X, — xg=15,
- X, —X, +10x, —’2}&% =27, y
=X, =X, = 2%, ¥l Ox4 -9 Y
G Mudulé =2
Q.3 | a. | Find the matrix’of the linear transformatlon T:V. (R)——) \Y (R) defined by | 10 | L2 | CO2
2 —(X+y,y+Z) ¢
10 | L2 | CO2
{.
(ii) and |g|
. ¢ OR ’
Q4 | a. | Consider the subspac&::iﬁmf R* spanned by the vectors V, = (l, 1,1, l), 10| L2 | CO2
V, =(1,1,2,4), V, =(1'2,-4,-3) Find (i) Orthogonal basis of U (i) an
orthonormal basis of Usby Zipplying Gram-Schmidt orthogonalization.
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Find the least square solution of AX =B for, 10 | L2
1 35 3
1
A=
1
1
L3 | CO3
QS5
L3 | CO3
Q.6 L3 | CO3
L3 | CO3
Q.7 L2 | CO4
Statistical hyp%he%y
Null hypothe%
Level of s@ﬁﬁmance
; Flve dice are thrown 96 times and numbers‘ 1, 2 or 3 appearing on the face | 10 | L2 | CO4
of the dice follows“the frequency distribution as follows :
No. ofdlceshc)wnl 20r3 |S|M=p3 |2 110
Frequency 74197135124 |8 |3
Test the hypothesis that the “data follows a binomial distribution,
(X505 =11.07 for 5 degree‘of freedom) .
OR
Q.8 A certain stimulus ddministered to each of 12 patients resulted in the | 10 | L2 | CO4

following increases,of blood pressureS 2,8,-1,3,0,-2,1,5,0,4,6. Can it
be concluded"that the stimulus will increase the blood pressure? (Table

i

value : t; s f“orwil degree of freedom = 2.201)
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